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Senator Macdonald asked:

a) Would the Department please calculate the net present value of the NBN, using
the data and assumptions contained in the Implementation Study, and based on a
calculation of the weighted average cost of capital in accordance with the usual
principles applied by the DoFD in relation to public capital expenditure.

b) Has the DoFD been asked by the Government to do this work?

Answer:

a) A cost benefit analysis of the National Broadband Network (NBN) was not
undertaken as part of the Implementation Study. The Implementation Study
undertook a detailed financial analysis, including detailed revenue and cost
modelling, and has been publicly released.

The calculation of the net present value (NPV) of the NBN would usually be done as
part of a cost benefit analysis. The Government has not undertaken a cost-benefit
analysis and does not intend to do a cost-benefit analysis.

b) The Department of Finance and Deregulation has not been asked by the
Government to calculate the NPV of the NBN.



